Mitsubishi \GeneraI-Purpose\ Programmable Controller

Renewal Tool Conversion Adapter

Model
ERNT-CQTY224

User’s Manual

ERNT-COT 7224

Model | ERNT-CQTY224
50CM-D180080-C (1602)

MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED

HEAD OFFICE: Hulic KUDAN BLDG.1-13-5, KUDANKITA CHIYODA-KU, TOKYO 102-0073, JAPAN
NAGOYA ENGINEERING OFFICE:139 SHIMOYASHIKICHO-SHIMOYASHIKI, KASUGAI, AICHI 486-0906, JAPAN

@ SAFETY PRECAUTIONS @

(Always read these precautions prior to use.)

Before using this product, please read this manual carefully and pay full attention to safety to ensure that
the product is used correctly.

The precautions presented in this manual are concerned with this product only. For Programmable
Controller system safety precautions, refer to the user's manual of the MELSEC-Q series CPU module
to be used.

In this manual, the safety precautions are ranked as “WARNING” and “CAUTION".

/\ WARNING

Indicates that incorrect handling may cause hazardous
conditions, resulting in death or severe injury.

Indicates that incorrect handling may cause hazardous

/\ CAUTION

conditions, resulting in medium or minor injury and/or property

e

damage.

Note that failure to observe the A CAUTION level instructions may lead to a serious consequence
according to the circumstances. Always follow the precautions of both levels because they are important
to personal safety.

Please keep this manual in an easy-to-access location for future reference, and be sure to provide the

manual to the end user.

Installation Precautions

/\ CAUTION

@ Use the conversion adapter and conversion adapter anchor base in an environment of the
general specifications defined in the MELSEC-Q series CPU module user’'s manual. Failure to
do so could lead to electric shock, fire, malfunction or product failure or deterioration.

@ Do not come in direct contact with the conductive area of the conversion adapter. Doing so could
lead to system malfunction or failure.

@ Fully secure the conversion adapter and conversion adapter anchor base using the installation
screws, and tighten the installation screws securely within the specified torque range. Failure to
do so could cause the conversion adapter and anchor base to fall, resulting in conversion
adapter and conversion adapter anchor base damage.

@ When installing the conversion adapter, be careful of conversion adapter comers, installation
screws, etc. Failure to do so may result in injury.

@ Always check for correct match between MELSEC-Q Series and the conversion adapter.

Incorrect match can cause damage to the MELSEC-Q Series module.

Wiring Precautions

/\ WARNING

@ Be sure to shut off all phases of the external power supply before performing installation or wiring
work. Failure to do so could result in electric shock or product damage.

@ If you want to energize and run the unit after completing the installation and wiring work, be sure
to close the terminal block cover attached to the SYSMAC C series terminal block. Failure to do
so could result in electric shock.

/\ CAUTION

@ Properly wire the conversion adapter after verifying the rated voltage and terminal layout of the
input/output module to be used. Connecting a power supply with a different rating or improper
wiring could lead to fire or product failure.

@ Securely tighten the conversion adapter installation screws, conversion adapter anchor base
installation screws and SYSMAC C series terminal block installation screws within the specified
torque range. A loose screw may result in a short circuit, fire or malfunction. An excessively
tightened screw may result in screw or conversion adapter damage, causing the conversion
adapter to fall, a short circuit or product malfunction.

@ Do not allow foreign matter such as cuttings or wiring shavings to enter the conversion adapter or

module. Doing so could lead to fire, failure or malfunction.

Startup and Maintenance Precautions

/\ WARNING

@ Do not touch the terminals during energization. Doing so could result in electric shock or
malfunction.

@ Be sure to shut off all phases of the external power supply before cleaning and retightening the
terminal screws. Failure to do so could lead to electric shock. Excessively tightened screws could
result in conversion adapter or input/output module damage, causing the conversion adapter to
fall, a short circuit or product malfunction.

/\ CAUTION

@ Do not disassemble or modify the conversion adapter. Doing so could lead to failure,
malfunction, injury or fire.

@ The conversion adapter case is made of resin. Do not drop or apply excessive impact to the
case. Doing so could lead to conversion adapter damage.

@ Be careful when touching conversion adapter corners and installation screws. Failure to do so
may result in injury.

Disposal Precautions

/\ CAUTION

@ When disposing of the product, treat it as industrial waste.

@ ZEEIEE @
(EARTES @ 7%

ERA~®E, BFARDEAFR, FRTEIERE, Efi
e,
AFEMPIREREEFERUCH T SA~RBEXNAT. XT
ARIEEFR AR REEEEW, 155 R MAIMELSEC-Q
R YICPUIRIREVF P F AR

EXROREITENOT, REIEFUNFRSA [EE
mmEE] .

A FRRERBMEURERBKRER, 5lERT
- R EHF

AitE FNERBEURERERER, 5IETE
T GE BHBRUAERE.

BN, WIBERTE, DEEANFTERITHNET, thass
SATERR. TEMMIHNBRELEBNNE, BESL
ié‘ﬁr-o
ETEREATM, WESEMEE, HEBAEMTARL
.

[REFEZFT]

AFEE

@ EFHIAFTERMAN/ A LR E B E LS THSIEE
it I TR E A SR VAL 4% I EN T A FUE B IR S
RECZ%, SSBUNREEEE.

@ B REE®, HiREAREEE A REIZR.,
SYSMAC CRFin THERZ 2124 . SYSMAC CRYIIEIERRE
124e N L E U HISESE Bl I SE 3T X . an R4 7185
0, 2SBER. ARHIRFE. WRIBRITETE, &
Al fEE AR IR RIS B B IR AT S B B SR
k.

@ HFIEAEIBRIELLZRYBHNERIEARERE

RA. 2FBAR, 8. wEE,

[ St EEEm]

AEE

@ EBRIETIEZMIERTHEER. TRESBAABN
RENES

@ 7EERANEHRE iR FIRER, LSV RN S8
B EHEHIT. WRAEHEEIF, TRHLSFHME. R
ZIRITHE R, ARESEMEIERRRIAN/ MR
AR T S B =% . R EKIRENE.

M ==
A F =

@ ETEIRE. BUERIERR. SRS SEME. =R

. ZHHAR.

N ==
A EE

M ==
A I =

@ FLI7EMELSEC-QZRFICPUIEIR A F F M iC E A — AR AR IR
BT EREHREREREREREEES. WRE—MBRN
HESEELUMNOIME R ER, FTRES B, AR, IRENE,
FERERIF R S

@ ETEEEMERINERRNSHEITS . SRS ER
REIRNE. HPE.

@ BBl RIS R EE & MiBid RRIFM TS0
MMAEIE, REERBAENENASETCERNYISEHITE,
T g B3R T S B A HIB AL A R AE B AL AR [ E & AR

@ TEREFIEEEN, BRSIETEWFILEREMN
A, REBITARESEDBHIEFE. ENTEES
SHZh5.

@ FEVIMIAMELSEC-QR TR AR B BEERT
Eff. ERIREAETHFEARN, AJEESSHBIMELSEC-QRT!
FRERITIR

@ HIRBECERRINEENAESIR, RiFR g e Rz
BIRIZORE . BN ARSI HERCER -
@ MIRFHERFH AR ZRIZITH, BERMER. BN

ARESSHES.

[EFEEEm]

M ==
A F =

O EFIHERA~RER T EFILIE.

[FZEEEZEM]

Related Manuals

" Manual No.
Manual Title (Model Code) Remarks
MELSEC-Q Series
o SH-080042 . - X X
Building Block 1/0 Module By Mitsubishi Electric Corporation
(13JL99)

User’s Manual

AEE

@ VIUFINEME N £ BT T R B TR EF I F R
REHEETF, A SHAEE~RRT,

@ ZE. E&EUSTERZBHITER, BITHR, SHXKH
SYSMAC CERFum FHERIH FHES R . 2NRAKR X AimFHEE

R, ATRESSEUARE.

EMC AND LOW VOLTAGE DIRECTIVES

Compliance to the EMC Directive, which is one of the EU Directives, has been a legal obligation for
the products sold in European countries since 1996 as well as the Low Voltage Directive since
1997.

Manufacturers who recognize their products are compliant to the EMC and Low Voltage Directives
are required to declare that print a "CE mark" on their products.

Authorized representative in Europe
Authorized representative in Europe is shown below.
Name: Mitsubishi Electric Europe BV
Address: Mitsubishi-Electric-Platz 1, 40882 Ratingen, Germany



1. Overview

<Output Module Specification Comparison Chart>

5.2 Tightening Torque

4. Mounting and Installation
Model SYSMAC C Series MELSEC-Q Series 9 Tighten the module installation screws to the specified torque below. An inappropriate tightening torque
Specifications - i ircui i i
This manual describes the Mitsubishi general-purpose Programmable Controller renewal tool Np Ifl ‘I T 02020 09‘224 1GQY1’0t 4.1 Handling Precautions could cause the product to fall or result in a short circuit, product failure or malfunction.
0. of output points oints oints . ) o ; . .
conversion adapter (ERNT-CQTY224). The conversion adapter is a product that converts the differences pulp 250VpAC/2A B (1) Do Ifnm :_OUCh the terminals during energization. Doing so could result in electric shock or Screw Location Tightening Torque Range
i malfunction.
in SYSMAC C series and MELSEC-Q series pin assignments. (COSo=1) (%:;i)tgnzcglﬁof;g‘) (2) Do not disassemble or modify the conversion adapter. Doing so could result in failure, Conversion adapter anchor base installation screw (M4 screw) 139 to 189N-cm
Once you have opened the packaging, verify that it contains the following products. Switching capacity 250v ACiO'SA 240VAC 2A/point malfunction, injury or fire. Mounting bracket fixing screw (M3.5 screw) 68 to 92 N-cm
(COS¢=0.4) = (3) Do not come in direct contact with the conductive area of the conversion adapter. Doing so
24V DC/2A (COS$=1) Id Iti te Ifuncti fail Conversion adapter bottom installation screw (M3 screw) 43t0 57 N
could result in system malfunction or failure. 0 -cm
" (8A/common,32A/Unit) 8a/commen 4) Fully secure the conversion adapter and conversion adapter anchor base using the ; ; ;
Product Quantity @) Y P P 9 Conversion adapter installation screw (M3 screw)
. ‘ OFF to ON 15ms or less 10ms or less installation screws, and securely tighten the screws within the specified torque range. N N - -
Conversion adapter 1 Response time ‘ ON to OFF 15ms or less 12ms or less Failure to do so could cause the conversion adapter and anchor base to fall, resulting in SYSMAC C series terminal block installation screw (M3 screw)
Mounting bracket 1 Surgs Killer None None conversion adapter and conversion adapter anchor base damage.
i ixi Fuse None None 4.2 Use Precautions
Mounting bracket fixing screw (M3.5 x 6 4 - : :
g 9 screw( ) leak current = = o UesFrosantons 6. External Dimensions
Internal current consumption 5V DC 430mA Depth The depth increases. Verification prior to installation is required. .
200mA or less (TYP. All points ON) Unit:mm
No. of points per common 8-points, 1 common 16-points, 1 common SYSMAC C sg‘il;srﬁgd-l?le 31— N LY
External connection system 38-point terminal block 18-point terminal block series module + o @f .
Mounting bracket
Renewal tool B B
Note @ ©
1. Because the number of points per "common" is changed from 8 (4 circuits) to 16 (2 units), .
Conversion adapter ® @ < o~
SYSMAC C Series-side Terminal Nos. A8 and A17, and B8 and B17 cannot be used in & @
separation from each other. Base adapter L P 5
2. An external supply power source connected to the SYSMAC C series terminal numbers A18, . elﬂ‘
. . Conversion adapter
B18 is not required. anchor base i N =
3.  For detailed specifications not stated in the Output Module Specification Comparison Chart — 53.5

and for general specifications, refer to the user’s manual of the output module to be used.
Those areas with specifications that are different for the SYSMAC C series and MELSEC-Q
series are subject to specification restrictions upon replacement. Check the specifications of

the connection device.

122 150.9
28.9mmUP(17.1mm)

The value in parentheses is the dimension when the base adapter is not used.

3
L
-

55.2

4.3 Installation Environment
For details of the installation environment, refer to the user's manual of the MELSEC-Q series CPU
module to be used.

2. Conversion Adapter Product Specifications

3. Products Required by the Conversion Adapter

5. Part Names and Installation Method

Duplication Prohibited

from Mitsubishi Electric Engineering Company Limited.

This manual may not be reproduced in any form, in part or in whole, without written permission

©2014 MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED ALL RIGHTS RESERVED

MELSEC is a registered trademark of Mitsubishi Electric Corporation.

SYSMAC is a registered trademark of Omron Corporation.

Please confirm the following product warranty details prior to product use.

X i Q dul
Conversion Adapter SYSMAC C MELSEC-Q Conversion Adapter (1)  Conversion Adapter Anchor Base (Sold Separately) series module
Model Series Series No. of modules Weight (g) The conversion adapter anchor base secures the bottom of the conversion adapter and is required Mounting adapter accessory)
Module Model Module Model ; ) ) Mounting bracket fixing screw ratis Warranty Terms and Gratis Warranty Range
ERNT-CQTY224 C500-0C224 Qy10 2 250 for conversion adapter use. One anchor base is required per base. M3.5 x 6(conversion adapter accessory)
R Specificati If any fault or defect (hereinafter referred to as “Failure”) attributable to Mitsubishi Electric Engineering
ionr‘:efséon Aiﬂap(ﬁ pecifications c dat Company Limited (hereinafter referred to as “MEE”) should occur within the gratis warranty period, MEE shall
nchor Base Mode : onversion adapter ! f o
Torminal | Signal o [ S Type Weight (g) installation screw SYSMAG G series repair the product free of charge via the distributor from whom you made your purchase.
gtj'rrnueo No. | Name ERNT-QF12 12-slot conversion adapter anchor base 620 i‘:;’(':"":‘:r"°::reww3)
TB1 YO S sy e — e [ s I [ = REWFERR S B A e | i i
OUTO1 | 782 | Y0 M$LSEC'?B|S”I'?S ERNT-QF8 8-slot conversion adapter anchor base 435 I W Cratis VYarranty Pe’“’f’ . )
0oUT02 —TB3 Yo: erminal Blocl - - =@ The gratis warranty period of this product shall be one (1) year from the date of purchase or delivery to
OUT03 | T84 Yo Slot No. ERNT-QF5 5-slot conversion adapter anchor base 290 . the designated place.
gg % |_TB5 YO C°"a“:é:':r"baa‘;2"‘e' T Note that after manufacture and shipment from MEE, the maximum distribution period shall be six (6)
FoUT6 | gg zg SYSMAC C series months, and the gratis warranty period after manufacturing shall be limited to eighteen (18) months.
SYSMAC C Series OUTOT B8 Yo (2) Base Adapter (Sold Separately) terminal block In addition, the gratis warranty period for repaired products shall not exceed the gratis warranty period
Terminal Block . i i i
Lo ’7‘ LR () The base adapter enables MELSEC-Q series installation using the installation holes of the Comiarsion adsptor boitom established prior to repair.
0OUT09 I YOA SYSMAC C series base unit. (Additional hole machining not required)
0ouT10 I YOB — [ ] Gratis Warranty Range
33 1 ] ¥g§ . Speclfl(‘jatlons . . % The gratis warranty range shall be limited to normal use based on the usage conditions, methods and
oUT1 I YOE Base Adapter Model | SYSMAC C Series | MELSEC-Q Series | Installable Conversion | Weight . " . environment, etc., defined by the terms and precautions, etc., given in the instruction manual, user's
I . - Conversion adapter anchor base screw Eﬁ‘
OUT1 — 6 YOF Compliant Module Compliant Module Adapter Anchor Base (9) M4 8(Conversion adapter anchor base accessory) <@ manual and caution labels on the product.
OuT15 1 7 | COl ERNT-CQB081 C500-BC081/082 Q312B ERNT-QF12 892
com 8 [ Open C500-8C091 Q388 ERNT-QF8
Terminal | Signal | . Ny . " . y
OUT00 1 | No_ | tame 053885%2?1 %661825 5.1 Installation Method Warranty Period after Discontinuation of Production
outez e vir| MELSEC-Qseries C€2000-B1083 11 Secure th ion adapter anchor base to the base adapt trol panel using th
OUTos | [T S;Z, m; Terminal Block ERNT-CQB05T C500-BC051/053 Q366 ERNT-GFS 719 m ecure the conversion adapter anchor base to the base adapter or control panel using the (1) MEE shall offer product repair services (fee applied) for seven (7) years after production of the product
OUTO4 [ T Slot No. +1 C500-BC061 Q358 ERNT-QF5 conversion adapter anchor base installation screws (M4 x 8) provided as an accessory. has been discontinued. Discontinuation of production shall be reported via distributors.
0uUT05 TB5 Y14 . (2)  Product supply (including spare parts) is not possible after production has been discontinued.
GUT06 —TBe | V15 €500-B1051 Q68B (Two end locations)
ouUTo? —ﬂ\: 57 | Vi6 Q658
COM_}— [ TB8 Y17 Q558 [2] Secure the mounting bracket to the Q series module using the mounting bracket fixing
[ 0UT08 B9 Y18 ERNT-CQB031 C500-BC031 Q35B ERNT-QF5 542 ! | " Exclusion of Opportunity Loss and Secondary Loss from Warranty Liability
OUT09 TB10 Y19 Q338 screws [M3.5 x 6 (conversion adapter accessory); two upper/lower locations].
OUT10 TB11 Y1A " N . " -
oUTH B 3] Mount the conversion adapter onto the mounting bracket. Regardless of t_he gratis warranty perlod,_MEE shall not be Ilaple_for compensation for damage_s arising from
oU Yic causes not attributable to MEE, opportunity losses or lost profits incurred by the user due to Failures of MEE
ou Y1D . . . . : . products, damages or secondary damages arising from special circumstances, whether foreseen or
OUT14 Y1E [41  Secure the conversion adapter using the conversion adapter installation screws (M3 x 30; 4 unforeseen by MEE, compensation for accidents, compensation for damages to products other than MEE
ou Y1F locations). products, or compensation for other work carried out by the user.
COM COM
1) 8 24V DC 8 | Open Precaution
(*1) An external supply power source is not required S J

Conversion Adapter

[5]

[6]

Before tightening the installation screws, check that the Conversion Adapter has been
securely installed on the MELSEC-Q Series module. Tightening the screws in floating-off
state or tilting state will damage the Conversion Adapter installation screws and the

mounting bracket.

Secure the conversion adapter using the conversion adapter bottom installation screw (M3 x
20; 2 location).

Secure the SYSMAC C series terminal block to the conversion adapter using the terminal
block installation screws (M3; two upper/lower locations).

ges in Product Specificatio

The specifications given in the catalogs, manuals and technical documents are subject to change without
notice.

This document is a new publication, effective February 2016. Specifications are subject to change without
notice.

Developed February 2016
50CM-D180080-C



